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FIRST SEMESTER PROPERREPEAT)

ical meaning of speed, velocity and accelerstion of a car moving

a smight road with a speed of 90 km h-r and suddenty apply the brake

50 km h'l over a distance of 100 m as shown in the below figure.

are negligible.

50 km.h'l

100 m

of the car under uniform motion with constant speed.

to breaks from 90 km h-l to 50 km h-1.

down from point A estimate the time and distance to bring

km h-1.

lime,if the car moving in a different initial velocity, with the

part (a) and come to rest after traveling 500 m?



v., = lY:Myu. Lm+MJ

02' Aparticle of mass rz is moving horizontally along the;c-axis with veloc ity {I anr
with a stationary particle of mass fur ina head on elastic collision. Show that th,

of the two particres immediatery after the collision are

T

tu
m

and

Two identical balls of equal mass 5m are initially at rest. As show in the fi
of mass rz moving with speed u arongthe positive x-direction undergoes a
collision with one of the ball B. Show that

(a) after the first collision, the baII c has a speed of 2u/3to the negative x-di
(b) the ball B has a speed of u/3 to the positive x-direction.

After the first collision it coilides erasticaily wi*r the bail A. show that

(c) the speed of the batl c after the second collision is 4u/9to the positive x
(d) the speed of the ball A after the second collision is ZtIl9to the negative x
(e) state whether any possibilities for further collision to be occur between the

v,=ffi]u.


